[ X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX XXX KXKXXKXKXKXKXXMA /2-6600102-00001XX
Set02 Answers for No.9790

n(d U B)=32 n(d)=25 n(B) =20
Ansl=| n(4-B)=9 n(B-A)=14 n(4 U B)=29
n(d U B)=34 n(4-B)=9 n((4 N B))=34

n(union(4, B, C)) =45 n(d-B)=3 nd nC)=14
Ans2 = n(C-4)=15 n(intersect(4, C,B))=0 n((4 U B)—-C)=17
n(C N (A/uB'),)=9 n(C—(4 N B))=15 n(d-B-C)=3
Ans3 =[ans.1 =44, ans.2 =66, ans.3=18], , Ans4=15, , Ans5=6
Ans6=8, , Ans7=10, , Ans8=51, , Ans9=13, , Ansl0=280

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XKXXXKXXXKXKXKXKXMA /2-6600102-00002XX
Set02 Answers for No.9888

n(4d U B)=40 n(4)=20 n(B) =24
Ansl=| n(4-B)=15 n(B-A4)=11 n(4 U B)=38
n(d U B)=35 n(d-B)=14 n((4 n B))=35

n(union(4, B, C)) =25 n(4-B)=10 nd nC)=7
Ans2 = n(C-4)=10 n(intersect(4, C,B))=5 n((4 U B)—C)=15
n(C (4 uUB))=2 n(C-(4 N B))=15 n(d-B-C)=5
Ans3 =[ans.1 =45, ans.2 =65, ans.3=18], , Ans4d=7, , Ans5=15

Ans6=10, , Ans7=3, , Ans8=37, , Ans9=10, , Ansl0=140
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXXKKKKKXXXKKM4E/2-6600102-00003XX
Set02 Answers for No.9926

n(4d U B)=36 n(4)=24 n(B)=20
Ansl=| n(A-B)=9 n(B-A4)=13 n(4 U B)=34
n(d U B)=33 n(d-B)=14 n((4 n B))=33

n(union(4, B, C)) =30 n(4d-B)=12 n(A' N C/)= 10
Ans2 = n(C-4)=7 n(intersect(4, C,B))=7 n((4 U B)-C)=14
n(C N (A/uB')/):2 n(C—(4 N B))=14 n(d-B-C)=5
Ans3 =[ans.1 =47, ans.2 =58, ans.3=26], , Ans4=23, , Ans5=24
Ans6=15, , Ans7=10, , Ans8=56, , Ans9=11, , AnslI0=150

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXME/2-6600102-00004XX
Set02 Answers for No.9929

n(4d U B)=30 n(4)=18 n(B)=23
Ansl=| n(A-B)=13 n(B-4)=8 n(d U B)=32
n(d U B)=31 n(4-B)=9 n((4 n B))=31

n(union(4, B, C)) =22 n(d-B)=9 nd n C)=13
Ans2 = n(C-4)=7 n(intersect(4, C,B))=7 n((4 U B)-C)=12
n(C N (A’UB')/):3 n(C—(4 N B))=14 n(d-B-C)=2
Ans3 =[ans.1 =33, ans.2 =55, ans.3=12], , Ans4=7, , Ans5=23
Ans6=13, , Ans7=8, , Ans8=41, , Ans9=18, , Ansl0=100

X [Page = 0001] XXXXXXXXXXXXXXXXXXKXXXXXKKXXXXXXKXXXXKKXKXXXKKXKXXXKXKKXXXKKKKXKKKXK




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXXKXKXKXKXMA /2-6600102-00005XX
Set02 Answers for No.10106

n(4d U B)=25 n(4)=21 n(B)=27
Ansl=| n(A-B)=13 n(B—4)=7 n(d4 U B)=32
n(d U B)=34 n(4-B)=5 n((4 N B))=34

n(union(4, B, C)) =27 n(d-B)=38 nd nC)=7

Ans2 = n(C-4)=6 n(intersect(4, C,B))=0 n((4 U B)—C)=18
n(C (4 uUB))=2 n(C—(4n B))=6 n(d-B-C)=8
Ans3 =[ans.1 =45, ans.2 =57, ans.3=17], , Ans4=19, , Ans5=25

Ans6="7, , Ans7=10, , Ans8=24, , Ans9=10, , Ansl0=140
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXKXKXKXMA /2-6600102-00006XX
Set02 Answers for No.10139

n(d U B)=29 n(4)=20 n(B) =28
Ansl=| n(A-B)=15 n(B-A4)=7 n(4d U B)=35
n(d U B)=35 n(A4-B)=7 n((4 N B))=35

n(union(4, B, C)) = 34 n(d-B)=1 n(d n C)=13

Ans2 = n(C-4)=14 n(intersect( 4, C,B')) =0 n((4 v B')— C)=9
n(Cm(A'uB/))=8 n(C—-(4 N B))=14 n(d-B-C)=1
Ans3 =[ans.1 =25, ans.2 =43, ans.3=25], , Ans4=21, , Ans5=14

Ans6=9, , Ans7=0, , Ans8=22, , Ans9=30, , Ansl0=50
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXXKKKKKXXXKKM4E/2-6600102-00007XX
Set02 Answers for No.10226

n(4d U B)=29 n(4)=21 n(B)=26
Ansl=| n(A-B)=11 n(B-A4)=6 n(4 U B)=38
n(d U B)=32 n(d-B)=12 n((4 n B))=32

n(union(4, B, C)) = 45 n(4d-B)=16 n(d n C)=13

Ans2 = n(C-4)=10 n(intersect(4, C,B))=9 n((4 U B)—C)=20
n(Cn (4 UB))=5 n(C-(4n B))=19 nd-B-C)=17
Ans3 =[ans.l1 =35, ans.2 =50, ans.3=24], , Ans4=10, , Ans5=14

Ans6=6, , Ans7=9, , Ans8=46, , Ans9=24, , Ansl0=70
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXKKKKKKXXXKKM4E/2-6600102-00008XX
Set02 Answers for No.10356

n(4d U B)=37 n(4)=22 n(B)=25
Ansl=| n(A-B)=14 n(B-4)=11 n(4d U B)=37
n(d U B)=36 n(A4-B)=12 n((4 n B))=36

n(union(4, B, C)) = 42 n(4-B)=15 nd n C)=13
Ans2 = n(C-A)=4 n(intersect(4, C,B))=5 n((4 U B)-C)=23
n(C N (A’UB')/):S n(C—(4 N B))=9 n(d-B-C)=10
Ans3 =[ans.1 =37, ans.2 =53, ans.3=16], , Ans4=18, , Ans5=21
Ans6=6, , Ans7=10, , Ans8=31, , Ans9=12, , Ansl0=120

X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKKXKXXKKKXXXKXKKXXXKKKKXXKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX KXKXXXKXXKXKXMAE /2-6600102-00009XX
Set02 Answers for No.10366

n(4d U B)=25 n(4)=15 n(B)=14
Ansl=| n(4-B)=7 n(B-A4)=8 n(d U B)=24
n(d U BY=22 n(A-B)=10 n((4 N B))=22

n(union(4, B, C)) = 42 n(4-B)=13 n(d n C)=11
Ans2 = n(C-4)=12 n(intersect(4, C,B))=7 n((4 U B)—-C)=12
n(C N (A/UB'),)=2 n(C—(4 N B))=19 n(d-B-C)=6
Ans3 =[ans.1 =44, ans.2 =56, ans.3=20], , Ans4=20, , Ans5=20
Ans6=9, , Ans7=1, , Ans8=38, , Ans9=20, , Ansl0=150

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX XKXXXKXKXKXKXMA /2-6600102-00010XX
Set02 Answers for No.10706

n(d U B)=39 n(4d)=17 n(B)=23
Ansl=| n(4-B)=15 n(B-4)=9 n(4 U B)=38
n(d U B)=32 n(d-B)=15 n((4 n B))=32

n(union(4, B, C)) =39 n(d-B)=12 nd nC)=7

Ans2 = n(C-4)=9 n(intersect(4, C,B))=5 n((4 U B)—C)=20
n(C (4 uUB))=6 n(C-—(4 N B))=14 nd-B-C)=17
Ans3 =[ans.1 =40, ans.2 =56, ans.3=21], , Ans4=13, , Ans5=19

Ans6=5, , Ans7=3, , Ans8=38, , Ans9=22, , Ansl0=140
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXKKKKKKXXXKKM4E/2-6600102-00011XX
Set02 Answers for No.10899

n(4d U B)=35 1n(4)=20 n(B)=23
Ansl=| n(A-B)=15 n(B-A4)=12 n(4 U B)=31
n(d U B)=35 n(d-B)=8 n((4 N B))=35

n(union(4, B, C)) =33 n(4d—-B)=13 n(A' N C/) =11
Ans2 = n(C-4)=9 n(intersect(4, C,B))=5 n((4 U B)-C)=17
n(C N (A/UB')/):3 n(C—(4 N B))=14 n(d-B-C)=8
Ans3 =[ans.1 =34, ans.2 =49, ans.3=18], , Ans4=8, , Ans5=18
Ans6 =10, , Ans7=5, , Ans8=52, , Ans9=10, , Ansl0=160

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXKXXXXXKXKXXXME/2-6600102-00012XX
Set02 Answers for No.10907

n(4d U B)=23 n(4)=11 n(B)=17
Ansl=| n(A-B)=11 n(B-4)=5 n(d U B)=24
n(d U B)=22 n(A4-B)=7 n((4 N B))=22

n(union(4, B, C)) =33 n(4d-B)=38 n(d n C)=11
Ans2 = n(C-4)=10 n(intersect(4, C,B))=1 n((4 U B)-C)=15
n(C N (A'uB')/):8 n(C-(4 N B))=11 n(d-B-C)=17
Ans3 =[ans.1 =33,ans.2 =48, ans.3=11], , Ans4=19, , Ans5=20
Ans6=12, , Ans7=10, , Ans8=53, , Ans9=5, , Ansl0=150

X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXXKKXKXXXKKKXXXXKXKKXXXKKKKXKKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXX XXX KXKXXXKXXKXKXKXKXKXMA /2-6600102-00013XX
Set02 Answers for No.10951

n(4d U B)=41  n(4)=23 n(B) =24
Ansl=| n(A-B)=14 n(B-A4)=13 n(4 U B)=38
n(d U B)Y=37 n(4-B)=14 n((4 N B))=37

n(union(4, B, C)) = 34 n(d-B)=5 nd nC)=12

Ans2 = n(C-4)=17 n(intersect(4, C,B))=1 n((4 U B)—C)=14
n(C N (A/uB'),)=8 n(C—(4 N B))=18 n(d-B-C)=4
Ans3 =[ans.1 =37,ans.2 =61,ans.3=16], , Ans4d=12, , Ans5=24
Ans6=15, , Ans7=2, , Ans8=42, , Ans9=10, , Ansl0=50

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX XKXXXKXKXKXKXMA /2-6600102-00014XX
Set02 Answers for No.11058

n(4d U B)=32 n(d)=28 n(B)=26
Ansl=| n(A-B)=12 n(B-A4)=14 n(4 U B)=32
n(d U B)=40 n(4-B)=6 n((4 n B))=40

n(union(4, B, C)) = 50 n(d-B)=9 n(d n C)=15

Ans2 = n(C-4)=13 n(intersect(4, C,B))=5 n((4 U B)—C)=20
n(Cn (4 UB))=9 n(C-(4n B))=18 n(d-B-C)=4
Ans3 =[ans.1 =38, ans.2 =64, ans.3=14], , Ans4d=14, , Ans5 =26

Ans6=10, , Ans7=10, , Ans8=40, , Ans9=14, , Ansli0=120
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXKKKKKKXXXKKM4E/2-6600102-00015XX
Set02 Answers for No.11139

n(4d U B)=42  n(4)=30 n(B)=29
Ansl=| n(A-B)=14 n(B-A4)=15 n(4d U B)=42
n(d U B)=44 n(A4-B)=13 n((4 N B))=44

n(union(4, B, C)) =32 n(d-B)=7 nd nC)=5
Ans2 = n(C—A4)=38 n(intersect(4, C,B))=6 n((4 U B)-C)=15
n(C N (A/uB')/)=6 n(C—(4 N B))=14 n(d-B-C)=1
Ans3 =[ans.1 =32,ans.2 =43, ans.3=23], , Ans4=15, , Ans5=16
Ans6=17, , Ans7=4, , Ans8=44, , Ans9=27, , Ansl0=40

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXXME/2-6600102-00016XX
Set02 Answers for No.11142

n(d U B)=26 n(d)=17 n(B)=20
Ansl=| n(4-B)=9 n(B-A4)=6 n(4d U B)=31
n(d U B)=26 n(Ad-B)=11 n((4 n B))=26

n(union(4, B, C)) = 38 n(4-B)=16 nd n C)=4
Ans2 = n(C-4)=12 n(intersect(4, C,B))=10 n((4 U B)-C)=14
n(C N (A'uB')’):4 n(C—(4 N B))=22 n(d-B-C)=6
Ans3 =[ans.1 =39, ans.2 =62, ans.3=16], , Ans4=19, , Ans5=23
Ans6=11, , Ans7=1, , Ans8=44, , Ans9=10, , Ansl0=140

X [Page = 0004] XXXXXXXXXXXXXXXXXXKXXXXXKKXXXXXXKXXXXXKKXKXXXKKXXXKXKKXXXKKKKXXKKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXXKXKXKXKXMA /2-6600102-00017XX
Set02 Answers for No.11193

n(d U B)=26 n(4)=13 n(B)=22
Ansl=| n(A-B)=15 n(B-A4)=6 n(4d U B)=27
n(d U B)=28 n(4-B)=5 n((4 N B))=28

n(union(4, B, C)) = 41 n(d-B)=11 nd nC)=14

Ans2 = n(C-4)=11 n(intersect( 4, C,B')) =8 n((4 v B')— C)=9
n(Cm(A'uB/)):9 n(C-(4 N B))=19 n(4d-B-C)=3
Ans3 =[ans.1 =28, ans.2 =54, ans.3=27], , Ans4=16, , Ans5=22

Ans6=5, , Ans7=4, , Ans8=38, , Ans9=10, , Ansli0=0
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKKXXXKKMA/2-6600102-00018XX
Set02 Answers for No.11736

n(d U B)=36 n(4)=22 n(B)=14
Ansl=| n(4-B)=7 n(B-4)=15 n(4d U B)=28
n(d U B)=29 n(Ad-B)=14 n((4 n B))=29

n(union(4, B, C)) =36 n(4d-B)=10 n(A' N C/) =12

Ans2 = n(C-4)=9 n(intersect(4, C,B))=9 n((4 U B)-C)=16
n(Cn (4 uUB))=4 n(C-(4n B))=18 n(d-B-C)=1
Ans3 =[ans.1 =37,ans.2 =53, ans.3=18], , Ans4=15, , Ans5=20

Ans6=15, , Ans7=6, , Ans8=59, , Ans9=15, , Ansl0=20
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXKKKKKKXXXKKM4E/2-6600102-00019XX
Set02 Answers for No.12111

n(4d U B)=34 1n(4)=20 n(B)=18
Ansl=| n(A-B)=13 n(B-A4)=15 n(d U B)=24
n(d U B)=33 n(d-B)=6 n((4 N B))=33

n(union(4, B, C)) = 41 n(d-B)=8 nd nC)=9
Ans2 = n(C-A4)=17 n(intersect(4, C,B))=3 n((4 U B)-C)=9
n(C N (4 U B/)’)=7 n(C—(4 N B))=20 n(d-B-C)=5
Ans3 =[ans.1 =43, ans.2 =63, ans.3=17], , Ans4d=11, , Ans5=20
Ans6=10, , Ans7=7, , Ans8=51, , Ans9=1, , Ansl0=90

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXME /2-6600102-00020XX
Set02 Answers for No.1l2116

n(d U B)=34 n(4)=18 n(B)=20
Ansl=| n(4-B)=13 n(B-4)=11 n(4 U B)=30
n(d U B)=31 n(4-B)=10 n((4 n B))=31

n(union(4, B, C)) = 18 n(d-B)=7 nd nC)=6

Ans2 = n(C-A)=5 n(intersect(4, C,B))=1 n((4 U B)-C)=11
n(Cn(4duB))=1 n(C—-(4n B))=6 n(d-B-C)=6
Ans3 =[ans.1 =42, ans.2 =53, ans.3=16], , Ans4=21, , Ans5=10

Ans6=8, , Ans7=8, , Ans8=34, , Ans9=6, , Ansl0=160
X [Page = 0005] XXXXXXXXXXXXXXXXXKXXXXXXXXKXXXKKXXKKXXXKKXXKKKXXKKXXKKKXKKKKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXXKXKXXXKXKXKXKXMA /2-6600102-00021XX
Set02 Answers for No.12179

n(4d U B)=28 n(4)=20 n(B) =24
Ansl=| n(A-B)=12 n(B—4)=8 n(4 U B)=32
n(d U B)=32 n(4-B)=8 n((4 n B))=32

n(union(4, B, C)) = 41 n(4-B)=13 nd nC)=6

Ans2 = n(C-4)=13 n(intersect(4, C,B))=4 n((4 U B)—-C)=11
n(Cn (4 uB))=9 n(C-(4n B))=17 n(d-B-C)=9
Ans3 =[ans.1 =36, ans.2 =47, ans.3=21], , Ans4=22, , Ans5=13

Ans6=13, , Ans7=7, , Ans8=38, , Ans9=12, , Ansl0=100
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKKKKKKXXXKKMA/2-6600102-00022XX
Set02 Answers for No.12324

n(d U B)=17 n(4)=19 n(B)=17
Ansl=| n(4-B)=5 n(B-A4)=7 n(4d U B)=22
n(d U B)=24 n(A4-B)=5 n((4 N B))=24

n(union(4, B, C)) =46 n(4d-B)=12 n(A' N C/) =16

Ans2 = n(C-4)=13 n(intersect(4, C,B))=9 n((4 U B)—C)=14
n(Cm(A/uB'),):8 n(C—(4 N B))=22 n(Ad-B-C)=3
Ans3 =[ans.1 =28, ans.2 =41, ans.3=26], , Ans4=11, , Ans5=11
Ans6=17, , Ans7=2, , Ans8=43, , Ans9=15, , Ansl0=40

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXXME/2-6600102-00023XX
Set02 Answers for No.13087

n(d U B)=32 n(d)=22 n(B) =21
Ansl=| n(A-B)=11 n(B-4)=12 n(4 U B)=30
n(d U B)=33 n(d-B)=9 n((4 N B))=33

n(union(4, B, C)) = 36 n(d-B)=8 nd n C)=11
Ans2 = n(C-A4)=14 n(intersect(4, C,B))=2 n((4 U B)-C)=7
n(C N (4 U B/)’)=4 n(C-(4 N B))=16 n(d-B-C)=6
Ans3 =[ans.1 =33, ans.2 =50, ans.3=19], , Ans4=12, , Ans5=25
Ans6=11, , Ans7=10, , Ans8=58, , Ans9=16, , Ansli0=140

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXXKXKXXXME/2-6600102-00024XX
Set02 Answers for No.13339

n(4d U B)=34 n(4)=13 n(B)=20
Ansl=| n(A-B)=14 n(B-A4)=7 n(4d U B)=33
n(d U B)=27 n(4-B)=13 n((4 n B))=27

n(union(4, B, C)) = 34 n(4-B)=16 n(d n C)=16
Ans2 = n(C-4)=5 n(intersect(4, C,B))=6 n((4 U B)-C)=16
n(C (4 uUB))=3 n(C-(4n B))=11 n(d-B-C)=10
Ans3 =[ans.1 =38, ans.2 =59, ans.3=25], , Ans4=15, , Ans5=16

Ans6=16, , Ans7=4, , Ans8=29, , Ans9=8, , Ansl0=100
X [Page = 0006] XXXXXXXXXXXXXXXXXKXXXKXXXXKXXXKKXXKKXXXKKXXKKKXXKKXXKKKXKKKKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX XKXXXKXXKXKXMA /2-6600102-00025XX
Set02 Answers for No.13340

n(d U B)=26 n(4d)=22 n(B)=27
Ansl=| n(A-B)=13 n(B—4)=8 n(4 U B)=32
n(d U B)=35 n(4-B)=5 n((4 N B))=35

n(union(4, B, C)) = 52 n(d-B)=17 nd nC)=14
Ans2 = n(C-A4)=12 n(intersect(4, C,B))=10 n((4 U B)-C)=19
n(Cn (4 uUB))=5 n(C—(4n B))=22 n(d-B-C)=7
Ans3 =[ans.1 =43, ans.2 =61,ans.3=27], , Ans4=19, , Ans5=10

Ans6=9, , Ans7=4, , Ans8=43, , Ans9=5, , Ansl0=130
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX KXKXXXKXXKXKXKXKXKXMA /2-6600102-00026XX
Set02 Answers for No.13350

n(4d U B)=37 n(4)=20 n(B)=25
Ansl=| n(4-B)=15 n(B-A4)=10 n(4 U B)=37
n(d U B)=35 n(4-B)=12 n((4 n B))=35

n(union(4, B, C)) =19 n(d-B)=5 n(d nC)=2
Ans2 = n(C-4)=11 n(intersect(4, C,B))=2 n((4 U B)-C)=7
n(Cn 4 uUB))=1 n(C-(4n B))=13 n(d-B-C)=3
Ans3 =[ans.1 =36, ans.2 =55, ans.3=16], , Ans4=8, , Ans5=23

Ans6="7, , Ans7=7, , Ans8=39, , Ans9=8, , Ansl0=120
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXKKKKKKXXXKKMAE/2-6600102-00027XX
Set02 Answers for No.13361

n(4d U B)=39 n(4)=22 n(B)=23
Ansl=| n(A-B)=14 n(B-4)=13 n(4 U B)=35
n(d U B)=36 n(4-B)=12 n((4 N B))=36

n(union(4, B, C)) = 44 n(d-B)=15 n(d n C)=11
Ans2 = n(C-A)=7 n(intersect(4, C,B))=10 n((4 U B)-C)=12
n(Cn (4 uUB))=6 n(C—(4n B))=17 n(Ad-B-C)=5
Ans3 =[ans.1 =49, ans.2 =76, ans.3=12], , Ans4=15, , Ans5=13

Ans6=12, , Ans7=10, , Ans8=43, , Ans9=6, , Ansl0=60
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXKXXKXXXKXKXXXME/2-6600102-00028XX
Set02 Answers for No.13363

n(d U B)=43  n(4)=28 n(B)=27
Ansl=| n(A-B)=14 n(B-4)=15 n(4 U B)=41
n(d U B)=42 n(Ad-B)=14 n((4 n B))=42

n(union(4, B, C)) = 43 n(d4d-B)=12 nd n C)=13
Ans2 = n(C-A)=11 n(intersect(4, C, B))=10 n((4 U B)—C)=19
n(Cn(4duUB))=10 n(C-(4n B))=21 n(d-B-C)=2
Ans3 =[ans.1 =53, ans.2 =68, ans.3=21], , Ans4=23, , Ans5=14

Ans6=14, , Ans7=9, , Ans8=58, , Ans9=30, , Ansl0=10
X [Page = 0007] XXXXXXXXXXXXXXXXXKXXXKXXXXKXXXKKXXKKXXXKKXXKKKXXKKXXKKKXKKKKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX KXKXXXKXKXKXKXMA /2-6600102-00029XX
Set02 Answers for No.13396

n(d U B)=29 n(d)=17 n(B)=13
Ansl=| n(4-B)=8 n(B-A)=12 n(4d U B)=22
n(d U B)Y=25 n(4-B)=9 n((4 N B))=25

n(union(4, B, C)) =45 n(4-B)=10 nd n C)=17

Ans2 = n(C—A)=14 n(intersect(4, C,B))=2 n((4 U B)—C)=24
n(Cn (4 uUB))=6 n(C-(4n B))=16 n(4d-B-C)=8
Ans3 =[ans.1 =41, ans.2 =68, ans.3=26], , Ans4=21, , Ans5=16

Ans6=9, , Ans7=9, , Ans8=39, , Ans9=13, , Ansl0=140
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX XKXXXKXKXKXKXMA /2-6600102-00030XX
Set02 Answers for No.13406

n(4d U B)=36 n(4)=18 n(B)=16
Ansl=| n(A-B)=11 n(B-4)=13 n(4 U B)=28
n(d U B)=29 n(4-B)=12 n((4 n B))=29

n(union(4, B, C)) = 16 n(d-B)=3 n(d nC)=38

Ans2 = n(C-4)=6 n(intersect(4, C,B))=2 n((4 U B)—C)=4
n(C (4 uUB))=2 n(C—(4n B))=38 nd-B-C)=1
Ans3 =[ans.1 =42, ans.2 =65, ans.3=24], , Ans4=10, , Ans5=22

Ans6=6, , Ans7=6, , Ans8=45, , Ans9=10, , Ansl0=70
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXKKKKKKXXXKKM4E/2-6600102-00031XX
Set02 Answers for No.13433

n(4d U B)=40 n(4)=24 n(B)=23
Ansl=| n(A-B)=14 n(B-A4)=15 n(d4 U B)=34
n(d U B)=38 n(A4-B)=11 n((4 n B))=38

n(union(4, B, C)) =33 n(d-B)=7 n(d n C)=13

Ans2 = n(C-A)=4 n(intersect(4, C,B))=4 n((4 U B)-C)=17
n(Cn (4 UB))=9 n(C—(4n B))=8 n(d-B-C)=3
Ans3 =[ans.1 =41, ans.2 =67, ans.3=23], , Ans4=14, , Ans5=18

Ans6=9, , Ans7=5, , Ans8=28, , Ans9=22, , Ansl0=150
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXXKKKKKXXXKKM4E/2-6600102-00032XX
Set02 Answers for No.13473

n(4d U B)=29 n(4)=19 n(B) =21
Ansl=| n(4-B)=10 n(B-4)=8 n(4d U B)=32
n(d U B)=29 n(Ad-B)=11 n((4 n B))=29

n(union(4, B, C)) = 34 n(d4d-B)=12 nd n C)=9
Ans2 = n(C-4)=7 n(intersect(4, C,B))=2 n((4 U B)—C)=18
n(Cn(4uUB))=10 n(C-(4 N B))=9 n(4d—-B-C)=10
Ans3 =[ans.1 =27, ans.2 =40, ans.3=13], , Ans4=8, , Ans5=16

Ans6=5, , Ans7=5, , Ans8=30, , Ans9=10, , Ansl0=60
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX XKXXXKXKXKXKXMA /2-6600102-00033XX
Set02 Answers for No.13485

n(4d U B)=34 n(4)=21 n(B)=18
Ansl=| n(4-B)=8 n(B-—A4)=11 n(4 U B)=33
n(d U B)Y=29 n(4-B)=15 n((4 N B))=29

n(union(4, B, C)) =32 n(d-B)=38 n(d N C)=10
Ans2 = n(C—A4)=38 n(intersect(4, C,B))=0 n((4 U B)—-C)=23
n(C N (A/uB'),)=3 n(C—(4 N B))=8 n(d-B-C)=8
Ans3 =[ans.1 =34, ans.2 =59, ans.3=20], , Ans4=21, , Ans5=28
Ans6=6, , Ans7=8, , Ans8=41, , Ans9=10, , Ansl0=90

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXKXKXXXKXKXKXKXMA /2-6600102-00034XX
Set02 Answers for No.14126

n(4d U B)=30 n(4)=21 n(B)=19
Ansl=| n(A-B)=11 n(B-A4)=13 n(4 U B)=25
n(d U B)=32 n(d-B)=6 n((4 n B))=32

n(union(4, B, C)) = 42 n(d-B)=38 n(d n C)=13
Ans2 = n(C-4)=15 n(intersect(4, C,B))=3 n((4 U B)-C)=15
n(C (4 uUB))=2 n(C-(4n B))=18 n(d-B-C)=5
Ans3 =[ans.1 =38, ans.2 =63, ans.3=20], , Ans4=8, , Ans5=9

Ans6=10, , Ans7=8, , Ans8=48, , Ans9=12, , Ansl0=140
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXXKKKKKXXXKKM4E/2-6600102-00035XX
Set02 Answers for No.14148

n(d U B)=25 n(4)=16 n(B) =24
Ansl=| n(A-B)=14 n(B-4)=6 n(d U B)=29
n(d U B)=30 n(A4-B)=5 n((4 N B))=30

n(union(4, B, C)) =55 n(4-B)=20 n(d nC)=6
Ans2 = n(C-4)=16 n(intersect(4, C,B))=10 n((4 U B)-C)=19
n(Cn (4 uUB))=6 n(C—(4n B))=26 n(d-B-C)=10
Ans3 =[ans.1 =53, ans.2 =68, ans.3=14], , Ans4=20, , Ans5=13

Ans6=6, , Ans7=6, , Ans8=46, , Ans9=7, , Ansl0=120
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXXKKKKKXXXKKM4E/2-6600102-00036XX
Set02 Answers for No.14313

n(d U B)=32 n(4d)=14 n(B)=20
Ansl=| n(4-B)=13 n(B-A4)=7 n(4d U B)=32
n(d U B)=27 n(4d-B)=12 n((4 n B))=27

n(union(4, B, C)) = 40 n(4-B)=11 nd nCc)=5
Ans2 = n(C-4)=11 n(intersect(4, C,B))=9 n((4 U B)—C)=10
n(C N (A'uB')/):9 n(C—(4 N B))=20 n(d-B-C)=2
Ans3 =[ans.1 =37,ans.2 =57, ans.3=17], , Ans4=18, , Ans5=9
Ans6=11, , Ans7=9, , Ans8=50, , Ans9=6, , Ansl0=130
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXXKXKXKXKXMA /2-6600102-00037XX
Set02 Answers for No.14370

n(4d U B)=31 n(4)=14 n(B)=19
Ansl=| n(A-B)=11 n(B-A4)=6 n(4 U B)=33
n(4d U B)=25 n(A-B)=14 n((4 N B))=25

n(union(4, B, C)) =27 n(4-B)=13 nd nC)=12
Ans2 = n(C-4)=3 n(intersect(4, C,B))=10 n((4 U B)-C)=10
n(Cn 4 uB))=2 n(C—(4n B))=13 n(d4d-B-C)=3
Ans3 =[ans.1 =35, ans.2 =60, ans.3=15], , Ans4=23, , Ans5=11

Ans6=13, , Ans7=3, , Ans8=158, , Ans9=20, , Ansl0=60
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKKKXXXKKMA/2-6600102-00038XX
Set02 Answers for No.14377

n(4d U B)=27 n(4)=26 n(B)=21
Ansl=| n(A-B)=6 n(B-A4)=11 n(4 U B)=31
n(d U B)=32 n(d-B)=10 n((4 n B))=32

n(union(4, B, C)) =47 n(4d-B)=13 n(A/ N C') =10
Ans2 = n(C-4)=16 n(intersect(4, C,B))=10 n((4 U B)-C)=19
n(Cn (4 uUB))=6 n(C—(4n B))=26 n(4d-B-C)=3
Ans3 =[ans.1 =23, ans.2 =45,ans.3=17], , Ans4=19, , Ans5=8

Ans6="7, , Ans7=8, , Ans8=40, , Ans9=4, , Ansl0=40
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXKKKKKKXXXKKM4E/2-6600102-00039XX
Set02 Answers for No.14403

n(4d U B)=28 n(4)=24 n(B)=23
Ansl=| n(4-B)=8 n(B-A4)=9 n(4d U B)=34
n(d U B)=32 n(d-B)=11 n((4 n B))=32

n(union(4, B, C)) =30 n(d-B)=38 nd nC)=2

Ans2 = n(C-4)=11 n(intersect(4, C,B))=6 n((4 U B)—C)=4
n(Cn (4 uUB))=7 n(C-(4n B))=17 n(d-B-C)=2
Ans3 =[ans.1 =45, ans.2 =61,ans.3=23], , Ans4=13, , Ans5=17

Ans6=5, , Ans7=2, , Ans8=50, , Ans9=20, , Ansl0=140
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXKKKKKKXXXKKM4E /2-6600102-00040XX
Set02 Answers for No.14421

n(4d U B)=30 n(4)=22 n(B)=25
Ansl=| n(4-B)=10 n(B-4)=7 n(4d U B)=38
n(d U B)=32 n(d-B)=13 n((4 n B))=32

n(union(4, B, C)) =39 n(4d-B)=12 n(d n C)=15
Ans2 = n(C-4)=9 n(intersect(4, C,B))=9 n((4 U B)-C)=19
n(C N (A’UB')/):S n(C—(4 N B))=18 n(d-B-C)=3
Ans3 =[ans.1 =33, ans.2 =49, ans.3=21], , Ans4=17, , Ans5=11
Ans6=14, , Ans7=6, , Ans8=55, , Ans9=22, , Ansl0=160

X [Page = 0010] XXXXXXXXXXXXXXXXXXKXXXXXXKXXXXKXKXXXXXKKXKXXKKKXKXXXKXKKXKXXKKKKXKKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX KXKXXXKXKXKXKXMA /2-6600102-00041XX
Set02 Answers for No.14430

n(d U B)=24 n(d)=24 n(B)=19
Ansl=| n(4-B)=5 n(B-4)=10 n(4 U B)=28
n(d UBY=29 n(4-B)=9 n((4 N B))=29

n(union(4, B, C)) = 40 n(d-B)=11 nd nC)=14

Ans2 = n(C-4)=7 n(intersect(4, C,B))=4 n((4 U B)—C)=20
n(Cn (4 uB))=7 n(C-(4n B))=11 n(d-B-C)=17
Ans3 =[ans.1 =39, ans.2 =62,ans.3=11], , Ans4=22, , Ans5=16

Ans6=6, , Ans7=10, , Ans8=36, , Ans9=15, , Ansl0=150
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKKKKKXXXXKMA/2-6600102-00042XX
Set02 Answers for No.12037

n(4d U B)=21 n(4)=18 n(B)=16
Ansl=| n(4-B)=5 n(B-A4)=7 n(4duU B)=25
n(d U B)=23 n(4-B)=9 n((4 N B))=23

n(union(4, B, C)) =45 n(4d-B)=16 n(A' N C/) =16
Ans2 = n(C-4)=9 n(intersect(4, C,B))=6 n((4 U B)—C)=29
n(C N (4 uUB))=3 n(C-(4n B))=15 n(4d-B-C)=10
Ans3 =[ans.1 =38, ans.2 =54, ans.3=24], , Ans4d=14, , Ans5=16

Ans6=10, , Ans7=6, , Ans8=57, , Ans9=2, , Ansl0=70
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